E"er 3
ﬂa/unans

7NN
AD” A\
\ V" /}
A\ 4 ®

) AC

{0

) O] 9

: sis

Batterie F20/27 HLC M1T 33490277000
Battery F20/27 H1C M1T 2315509
Batapesa F20/27 H1IC M1T
Typ-Nummer
SAP-Nr.
Nr. Bezeichnung Part Number
No. Designation SAP-Number
Ne HaumeHoBaHue Homep Tvna
SAP-Homep
1 Batteriekasten 3078171055
Battery container 2290059
KoHTelHep akkymynaTopHoin 6atapen
2 Batteriedeckel 3079171177
Battery lid 2291914
KpblLLka akkymynsaTopHon 6atapen
3 Stecker 3089946091
Connector socket complete 2300297
CuroBoli pazbem
4 Fuhrungsleiste 3089446173
Sliders 1226367
lMonosbs
5 Zylinderschraube M5x10 9506583506
Screw M5x10 1518712
BonT ¢ nonykpyrro ronoskon M5x10
6 Scheibe B5,3 9504500302
Washer B5,3 1509795
LLlain6a B5,3
7 Entliftungsnoppen 3023633024
Ventilation pipe 1214079
BeHTURALMOHHbLIN NnaTpybok
8 Zelle FP 27 H1C komplett 3743273200
Cell FP27H1C complete 2318239
Axkymynatop FP27 H1C B cbope
9 Tellerventil 3031836060
Vent plug 2287662
KnanaH
10 Sechskantmutter M10 3016224025
Hexagonal nut M10 1212078

LLlecTurpaHHas ranka M10

11 Federscheibe B10

Spring washer B10

Mpy*uHHas wanbda B10
12 Verbinder C1

Connector C1

Mepemblyka mexanemeHTHasi C1
13 Verbinder C2

Connector C2

MepemMblyka MexanemeHTHasi C2
14 Z-Verbinder

Z-Connector

Z-o6pa3Ha;| MeXaneMeHTHasa nepemMblyka

15 Temperaturfuhler kpl.
Temperature sensor complete
[atuvk TemnepaTypbl B cbope

16 Distanzstuick U-Form
U-Profile
U-06pasHbiit npodmris

17 Isolator
Insulating plate
M3onauuoHHas nnactuHa

18 Isolator
Insulating plate
MN3onaumoHHasa nnactuHa

19 Isolator
Insulating plate
M3onaumoHHas nnactuHa

20 Isolator U-Form
Insulating plate U-Profile
U-06pasHbiit U30msLMOHHbIN Npodmris

21 Isolator
Insulating plate
M3onaumoHHasa nnactuHa

22 Isolator
Insulating plate
M3onauuoHHas nnactuHa

9504620600
1511568

3080314952
1220056

3080314252
1219758

3080314864
1219855

3089946359
2301033

3025132049
2284998

3027032218
2287557

3027030259
2286439

3093332062
2301739

3025132249
2285394

3027030287
2286714

3027030288
2286722



